Grundfos SDCS CIU including CIM 280 Gen2

End-of-Life Information

Grundfos SDCS CIU including the CIM 280 Gen2 module must be disposed of according to local regulations by using a public or private waste
collection service. If this is not possible, contact the nearest Grundfos company or service workshop.

Grundfos SDCS CIU products must be disposed of according to local regulations by using a public or private waste collection service. If this is
not possible, contact the nearest Grundfos company or service workshop.

Safety risk
« Safety risk related to materials used.

There is no risk for people during the disassembly process posed by the materials used for the product.
+ Safety risk related to handling the product.

There is no risk for people during the handling process for the product.

Dismantling the product

SDCS CIU gateways can all be considered electronic scrap, and should be handled as such.
Disassembly is not necessary.

GRUNDEFOS %




1% Box 267x234x207
1x Packaging Label

1x RS485/GENI-bus
M12 5p Fem. A-code (2, 5, 3)
UL Cable, 3 wires (A, Y, B)

L

3x QR-Code Sticker
Printed at GPVA

1x Power Cable with plug (L, N, PE)
For US/CA: NEMA 5-15p (UL)
For EU/GB: CEE 7/7 (CE)

- 1x Front foil SDCS CIU

. ,,,,——"”J 2x Light Guide
- " 1xCIM 280 Gen2 EU Foil or
_ 1x CIM 280 Gen2 US Foil
/

K ) _/é / 4x Cover Screw
4 -

1x Upper Plate
1x Connector Board

1x M3 Screw

2x M4 Screw
6x M3 Screw

~ 3x Cable Bracket

1x Antenna 3G/4G
with 3 m Cable

~ 1 Upper Box

- 1 Box Gasket

- 1 M4 Screw

1 CIM 280 Gen2 Module EU or US

CIM 280Gen2
GPVA Sub Assembly
1x e-SIM and
1x Board-EU or

1x Board-US

1x Lower Plate

1x Power Protection Cover

‘uﬂ"""

o B
,qrf:g;_‘:-" :--:

1x Front Earth Plate ‘\&;‘i;? #g 1.,“_‘
4x M3 Screw . QLO;“{"\
& For USA and Canada

1x FCC DEvice rLabel PN 92515457
1% FCC Approvals Label PN 99440267
1x PROP65 Warning Sticker PN 99509838

1x Power Board

1x Product Nameplate
1x Lower Earth Plate
3x Blanking Plug M16

1x Lower Box Part

6x Glad O-ring

6x Cable Gland M16

Documentation
1xChemPairing Quick Guide
1x ChemPairing Safety instruction

1x Rear Foil
1x Bracket for CIU box, key-hole &
& a 2
4x Nylon Rivet 3
) g
Pos. Designation Material
A Main housing PC FR (Makrolon)
B Brackets and screws Metal (mainly stainless steel)
C CIU Power Board ELECTRONICS (PCB)
D Plastic insert plates PC FR (Makrolon)
E Cables PVC / Copper
F Protection cover PET (Lumirror S10)
G CIM module ELECTRONICS (PCB)
H Stacker Board ELECTRONICS (PCB)
| Lid for housing PC FR (Makrolon)
J Gasket Silicone
K Foils PET (Polyester) / 3M467
Additional materials:
Antenna ( Magnet / PVC / Copper ) ; Paper and cardboard
2

GRUNDEFOS %




